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Nyestion 1

ot yet answered
Marked out of 1.00

T

2 2
30300300 3963IMAHINNN 0160330 [ dz [ ysinzdy

0 -1
Select one:
Oa 0
O b. 15
Oc 125
Od. 05
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Question 2

Not yet answered
Marked out of 1.00

1

3063090) 06093GI3NL @030 [ dy [ f(z,y)dx

0
Select one:

o# Ofdxbff(w,y)dy

Ob 1 1
Ofdmff(w,y)dy
Oc 2 x
i[dwaf(w,y)dy
O d 1 2z
Ofdwg" f(z,y)dy
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Question 3

Not yet answered
Marked out of 1.00

308MA3VMIN MGOIIGOPN 06033GO™0 3 [[(2? + y)dzdy , LOLIS D = {(z,y);0 <z < 1,0 < y < 2}
D

Select one:
O a. -1
O b 2
Oc 25
Od 8

Question 4

Not yet answered
Marked out of 1.00

3MWHM 3MMOXN6003dHI 30LOLBN0) 303MM3VI0 N6DI3MIL() % ff Va? + y?dzdy
D

D= {(w;y):a® +y* <1}

Answer:
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Question 5

Not yet answered
Marked out of 1.00

303(M0)30<2J0) d3MHOYIN BN3IGAL BIGMIMSN, HMIILNG 3I3MLYBXL3OINY 6NMIdN0) y=2x y=4x x=3

Answer:

Question 6

Not yet answered
Marked out of 1.00

03(M330) 6V LOLHB V X®NL 3MBIFIN BIPV3NMIBNM) 3IFIMLOBLIOIC LLIINL AMBIMdY x+y+z=1 x=0
y=0 z=0

Answer:
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Question 7

Not yet answered
Marked out of 1.00

3 2 1

30800309¢290) 3063300GIBNMN 160330 [dz [dy [(z + y + 2)dz
0 0 0

Select one:

O a 21

(O b. 18

Oc 8

Od 25

Question 8

Not yet answered
Marked out of 1.00

303(M0)30J0) d3M-HOYIN BN3IGAL BIGOIMdN, MHM3ITNG 3I3MLOBXL3INY 6NMIdN0) 3x+2y-6=0 x=0 y=0

Select one:
Oa. 3
O b1
Oc 35
Od 7
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Question 9

Not yet answered
Marked out of 1.00

3MN6AL BMG3INL 303(MYI635600) 303(MA3OLI0) N6OIB3MOLN fL Pdx + Qdy , bd®d6 L @b AABC

® 033006 MGNIBONMISITNY LOVMAL ALGAL LOBENEIVNIPIBMP: 6 { [; (@ —y)?de — (22 + 3y)dyJ
A(0;0)B(1;0)C(051)

Select one:

O a 4

O b. 1

Oc -4

Od 14

Question 10

Not yet answered
Marked out of 1.00

309MM30¢I0) MGHIIGIPN N160I3GITN 7}—2 £ [ zsinydzdy , b8R8 D = {(z,y);0 <z < 7,0 <y <

NI
—

Select one:

O a. 4
O b. 32

Oec 8
O d. 05
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Question 11

Not yet answered
Marked out of 1.00

03M390) 36360300 3080 357 | i

Answer:

Question 12

Not yet answered
Marked out of 1.00

03(M330) 363MN3NL 503N ZZOZO %
Answer:
) >
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